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c y = 3x 

y = 4x – 1 

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 2x + y = ‐4 

x + 4y = 12

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c y = 2x 

y = x + 5

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c x + 4y = 6

x + y = 3

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c x – 2y = ‐19

5x + 2y = 1

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.

c y + 3x = ‐2 

2y – 3x = 14 

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.
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c y = 2x – 1  

y = ‐x + 5

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c y = x – 3  

y = ‐x – 1 

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c x = 2y – 4  

x + 8y = 16

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 2x + y = ‐4

x + y = ‐7

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 2x + y = 3

x – 2y = ‐1

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 3x + 3y = 15

‐2x +  3y = ‐5

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.
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c y =    x – 3 

2x + y = 4 

Solve the linear system by graphing.

Solution: __________

   
 
1
3

© Lisa Davenport 2013‐2022

.

c y = x 

y + x = 6

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c y = x + 1 

4x + y = 6

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c ‐x + y = ‐4

y = 2x – 11 

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 2x + y = 3 

‐x + 3y = ‐12

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 4x + y = 0

x + y = ‐3

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.
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c 3y – 2x = ‐9 

y + x = 2

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 3y = ‐x + 15 

2x – 2y = ‐2 

Solve the linear system by graphing.

Solution: __________

© Lisa Davenport 2013‐2022

.

c 4y – 5x = 9 

x – 4y = 11 

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c ‐2x + y = 8

3x + 2y = 9

Solve the linear system using substitution.

Solution: __________

© Lisa Davenport 2013‐2022

.

c x + y = 12

2x + 5y = 27 

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.

c ‐5x + 2y = 32

2x + 3y = 10

Solve the linear system using elimination.

Solution: __________

© Lisa Davenport 2013‐2022

.
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(7,3) (11,1) (1,2) (3,3) (1,-4)

(-3,8) (3,4) (2,1) (1,1) (-2,4)

(3,-1) (-4,4) FREE (4,1) (2,3)

(-4,6) (-5,-4) (5,10) (1,3) (0,2)

(-1,6) (3,-3) (1,-2) (3,-10) (3,-2)

M   A   T   H   O
(3,-3) (1,1) (2,3) (7,3) (-1,6)
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(3,-1) (4,1) FREE (-2,4) (-5,-4)
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(3,-10) (-1,6) (2,1) (3,-3) (-4,4)
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(-2,4) (1,-2) (2,3) (-4,4) (1,1)
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(7,3) (-5,-4) FREE (3,4) (11,1)
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(0,2) (-4,6) (1,3) (-3,8) (3,-10)
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(-4,6) (-2,4) (11,1) (-1,6) (2,1)

(-3,8) (1,-2) (3,3) (1,2) (3,-10)

(0,2) (4,1) FREE (1,1) (3,-3)

(2,3) (1,-4) (-4,4) (1,3) (5,10)
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(3,-2) (-4,4) (1,1) (0,2) (3,3)

(3,-10) (1,-2) (11,1) (7,3) (3,-3)

(2,3) (-3,8) FREE (4,1) (5,10)

(2,1) (-4,6) (1,3) (-5,-4) (1,-4)

(-1,6) (3,4) (3,-1) (-2,4) (1,2)
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(1,2) (1,-4) (11,1) (3,4) (-3,8)
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(-2,4) (0,2) (11,1) (3,4) (2,3)

(5,10) (1,2) FREE (-3,8) (3,-10)

(1,-2) (1,1) (-1,6) (3,3) (3,-2)

(3,-1) (-4,4) (1,-4) (2,1) (4,1)

M   A   T   H   O
(1,1) (5,10) (3,-2) (1,-2) (4,1)

(1,-4) (-5,-4) (2,3) (-1,6) (0,2)

(-4,4) (1,2) FREE (3,-1) (1,3)
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(3,-2) (-4,4) (11,1) (3,-3) (1,2)

(1,3) (3,3) FREE (-4,6) (2,1)
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(3,3) (11,1) (-5,-4) (1,-2) (-2,4)



M   A   T   H   O
(1,-2) (2,3) (-1,6) (-4,4) (5,10)
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(3,-10) (-1,6) FREE (1,-2) (0,2)

(11,1) (3,-3) (5,10) (4,1) (3,-1)

(1,2) (-4,4) (1,3) (1,1) (-2,4)

M   A   T   H   O
(2,1) (3,-2) (0,2) (5,10) (1,1)

(3,-1) (3,-3) (-5,-4) (1,-4) (1,3)

(-4,6) (3,-10) FREE (2,3) (1,-2)
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(-3,8) (1,2) (-1,6) (-4,4) (11,1)
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(1,2) (-3,8) (-5,-4) (1,-4) (3,4)

(3,-1) (3,-10) (-4,4) (5,10) (3,3)

(1,-2) (-2,4) FREE (0,2) (7,3)

(1,3) (3,-2) (-4,6) (4,1) (11,1)

(-1,6) (3,-3) (2,1) (1,1) (2,3)



M   A   T   H   O
(2,3) (-3,8) (3,-10) (3,-3) (-4,6)

(-2,4) (0,2) (3,-1) (7,3) (1,1)

(1,2) (4,1) FREE (3,4) (1,-2)

(-4,4) (-5,-4) (-1,6) (3,3) (2,1)

(3,-2) (1,3) (5,10) (11,1) (1,-4)

M   A   T   H   O
(4,1) (3,-3) (1,3) (-4,6) (-4,4)

(5,10) (3,4) (3,-2) (3,-1) (7,3)

(2,1) (1,1) FREE (1,-4) (1,2)

(11,1) (-2,4) (1,-2) (3,-10) (-5,-4)

(2,3) (-3,8) (0,2) (3,3) (-1,6)

M   A   T   H   O
(1,1) (3,-3) (7,3) (-2,4) (-4,6)

(11,1) (5,10) (1,3) (3,3) (-3,8)

(3,-2) (1,-4) FREE (1,2) (-1,6)

(1,-2) (-5,-4) (-4,4) (2,1) (3,-1)

(0,2) (4,1) (2,3) (3,-10) (3,4)

M   A   T   H   O
(1,1) (1,-4) (11,1) (3,-1) (-4,6)

(3,-3) (4,1) (-3,8) (3,-2) (2,1)

(7,3) (1,2) FREE (-2,4) (-5,-4)

(1,3) (1,-2) (0,2) (-4,4) (5,10)

(-1,6) (3,4) (3,3) (3,-10) (2,3)
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(-4,6) (4,1) (1,-4) (3,-2) (7,3)
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(-4,4) (-5,-4) (-3,8) (1,1) (11,1)
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5

c y = 3x 

y = 4x – 1 

Solve the linear system by graphing.

Solution: __________(1,3)

home

© Lisa Davenport 2013‐2022

c 2x + y = ‐4 

x + 4y = 12

Solve the linear system by graphing.

Solution: __________(‐4,4)

home

© Lisa Davenport 2013‐2022

c y = 2x 

y = x + 5

Solve the linear system using substitution.

Solution: __________(5,10)

home

© Lisa Davenport 2013‐2022

c x + 4y = 6

x + y = 3

Solve the linear system using substitution.

Solution: __________(2,1)

home

© Lisa Davenport 2013‐2022

c x – 2y = ‐19

5x + 2y = 1

Solve the linear system using elimination.

Solution: __________(‐3,8)

home

© Lisa Davenport 2013‐2022

c y + 3x = ‐2 

2y – 3x = 14 

Solve the linear system using elimination.

Solution: __________(‐2,4)

home

© Lisa Davenport 2013‐2022
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c y = 2x – 1  

y = ‐x + 5

Solve the linear system by graphing.

Solution: __________(2,3)

home

© Lisa Davenport 2013‐2022

c y = x – 3  

y = ‐x – 1 

Solve the linear system by graphing.

Solution: __________(1,‐2)

home

© Lisa Davenport 2013‐2022

c x = 2y – 4  

x + 8y = 16

Solve the linear system using substitution.

Solution: __________(0,2)

home

© Lisa Davenport 2013‐2022

c 2x + y = ‐4

x + y = ‐7

Solve the linear system using substitution.

Solution: __________(3,‐10)

home

© Lisa Davenport 2013‐2022

c 2x + y = 3

x – 2y = ‐1

Solve the linear system using elimination.

Solution: __________(1,1)

home

© Lisa Davenport 2013‐2022

c 3x + 3y = 15

‐2x +  3y = ‐5

Solve the linear system using elimination.

Solution: __________(4,1)

home

© Lisa Davenport 2013‐2022
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c y =    x – 3 

2x + y = 4 

Solve the linear system by graphing.

Solution: __________

   
 
1
3

(3,‐2)

home

© Lisa Davenport 2013‐2022

c y = x 

y + x = 6

Solve the linear system by graphing.

Solution: __________(3,3)

home

© Lisa Davenport 2013‐2022

c y = x + 1 

4x + y = 6

Solve the linear system using substitution.

Solution: __________(1,2)

home

© Lisa Davenport 2013‐2022

c ‐x + y = ‐4

y = 2x – 11 

Solve the linear system using substitution.

Solution: __________(7,3)

home

© Lisa Davenport 2013‐2022

c 2x + y = 3 

‐x + 3y = ‐12

Solve the linear system using elimination.

Solution: __________(3,‐3)

home

© Lisa Davenport 2013‐2022

c 4x + y = 0

x + y = ‐3

Solve the linear system using elimination.

Solution: __________(1,‐4)

home

© Lisa Davenport 2013‐2022
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c 3y – 2x = ‐9 

y + x = 2

Solve the linear system by graphing.

Solution: __________(3,‐1)

home

© Lisa Davenport 2013‐2022

c 3y = ‐x + 15 

2x – 2y = ‐2 

Solve the linear system by graphing.

Solution: __________(3,4)

home

© Lisa Davenport 2013‐2022

c 4y – 5x = 9 

x – 4y = 11 

Solve the linear system using substitution.

Solution: __________(‐5,‐4)

home

© Lisa Davenport 2013‐2022

c ‐2x + y = 8

3x + 2y = 9

Solve the linear system using substitution.

Solution: __________(‐1,6)

home

© Lisa Davenport 2013‐2022

c x + y = 12

2x + 5y = 27 

Solve the linear system using elimination.

Solution: __________(11,1)

home

© Lisa Davenport 2013‐2022

c ‐5x + 2y = 32

2x + 3y = 10

Solve the linear system using elimination.

Solution: __________
(‐4,6)

home

© Lisa Davenport 2013‐2022


